
GCSE Spanish: Travel and tourism
(Foundation and Overlap)

MARK SCHEME

Q1. Accept Mark
(a) E 1
(b) C 1
(c) F 1
(d) A 1

[4]

Q2. Accept Mark
(a) B 1
(b) D 1
(c) C 1
(d) H 1

[4]

Q3. Accept Mark
(a) N 1
(b) P 1
(c) P + N 1
(d) P + N 1

[4]
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Q4. Accept (in any order) Mark
1 C 1
2 B 1
3 A 1
4 B 1

[4]

Q5. Accept Reject Mark

1

Ahora: ir a la costa = 1
En el futuro: aprender francés
= 1
(Accept francés without accent)

ir or costa on own
aprender or francés on own
Answers in English

2

2
En el pasado:: montar a caballo
= 1
Ahora: tomar el sol = 1

montar or caballo on own
tomar or el sol on own
Answers in English

2

[4]

Q6. Accept (in any order) Mark
1 B 1
2 C 1
3 A 1
4 B 1

[4]

Q7. Key ideas Reject Mark

1

Hotel(s) because it / they is / are
comfortable
Hotel because camping is not as
comfortable

1

2

Train because it is relaxing / it’s
not stressful.
Train because flying / airports is /
are stressful

tren

1

3

Swim(ming) because it is safer /
healthy / good for you
Swim(ming) because sunbathing
is unhealthy / dangerous / bad for
you

safe

1

[3]

Q8. Accept (in any order) Mark
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1 F 1
2 ? 1
3 T 1
4 F 1

[4]

Q9. Accept (in any order) Mark
1 B 1
2 A 1
3 B 1
4 C 1

[4]

Q10. Accept Mark
B 1

[1]

Q11. Key idea Mark
1 Beatriz: piscina 1
2 Cristóbal: parque temático 1
3 Daniela: montañas 1
4 Eduardo: lago 1

[4]
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